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1. An increase in the effective 1ax rate on capital would cause the IS curve o _and the LM curveto _____.
(a) shift down and to the left; be unchanged
(b) shift down and to the left; shift up and to the left
(c) shift up and to the right; be unchanged
(d) shift up and to 1he right; shift up and to the left

2. Which of the following macroeconotnic variables would you exclude from an index of leading economic
indicators?
(a) Money supply
{b) Industrial production
(c) Inventory investment
{(d) Residential investment

3. Velocity is defined as
(2) nominal money stock/nominal GDP.
(b) nominal GDP/nominal money stock.
{c) real money stock/real GDP.
(d) me’.

4, Three factors that cause interest rates among different financial instruments to vary are
(a) default risk, expected inflation, and taxability.
(b) default risk, current inflation, and taxability.
(c) defauli risk, maturity, and taxability.
(d) default risk, expected inflation, and maturity.

5. Frictional unemployment arises when
(a) unskilled or low-skilled workers find it difficult to obtain desirable,
long-term jobs.
(b) labor must be reallocated from industries that are shrinking to areas that are growing.

(c) workers must search for suitable jobs and firms must search for suitable workers,

(d) output and employment are below full-employment levels.
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6. The uses-of-saving identity says that an economy’s private saving is used for
(a) investment, interest expenses, and the government budget deficit.
{(b) investment, the government budget deficit, and the current account.
(c) investment, interest expenses, the government budget deficit, and the current account.

(d) investment, interest expenses, the government budget deficit, transfer payments, and the current

account.
7. An increase in taxes (when Ricardian equivalence doesn’t hold) causes the real interest rate to and the
price level to in general equilibrium.

() rise; rise
(b} rise; fall
{c) fall; rise
(d) fall; fall

8. The primary factor that caused some economists to lose their faith in the Keynesian approach to
macroeconomic policy was
(a) the high levels of unemployment that oceurred during the Great Depression.
(b) the presence of both high unemployment and high inflation during the 1970s.
(c) theoretical proof that Keynes’s ideas were invalid.
(d) evidence that Keynes’s ideas were useful during economic recessions, but not during economic
booms.

RS HEME TASA 1L RAM2 DAEZHEE £ 20 5 - 9EFHHLRBAMRAFHE &
AR 3t Haae o

1. Suppose that a monopoly can produce any level of output it wishes at a constant marginal ( and average) cost
of §5 per unit. Assume that the monopoly sells its goods in two different markets that are separated by
some distance. The demand curve in the first market is given by (, =110 -2P and the demand curve in
the second market is givenby 0O, =85-F,.

(1) If it only costs demanders $3 to transport goods between the two markets, what level of cutput should be
produced in each market, and what price will prevail in cach market? What are total profits in this
situation? (10%)

(2) How would your answer change if transportation costs were zere and the firm was forced to follow a
single-price policy? (10%)
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